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1. Choose the correct answer : 1x10=10

W% Becol A Sferer :

a) The validity of an argument is dependent on
the content of the argument/form of the
argument/both content and form of the
argument.

& Br e IR Ree/IEoR
R /R WIE RN (e eke e
A |
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(b)

(c)

(@

(e)

20A/584

(2)

The conclusion of an inductive argument/
deductive argument is always probable.

9o A e /A e Fraredn
ST SRR |

Syllogism is an immediate deductive
inference/mediate deductive inference.

WA GG S e SeEE /A s
S

DISAMIS is the valid mood of first
figure/second  figure/third  figure  of
syllogism.

DISAMIS /i< 439 35EH /AN A /PO
REF ¢34 S |

The Venn diagrammatic representation of
traditional E proposition/I proposition/
O proposition is SP #0.

og=oEITe E I551/1 95/0 I54 coAfoay el

3’5 SP #0.

An empty set is expressed through the
symbol €/ A.

9ol e 7S € / A PZ TS AP T =7 |

( Continued )

(9)

(h)

(i)

G)

2. Answer the following :

(G310

(@)

20A/584

(3)

While drawing interlocking circles in Venn
diagram, X is used to indicate the region
which is empty/non-empty.

(SHADEY TS AR 2o SBYS TS A
T4 W, A LT/ A AL HLX PR X
IqEIE 9 A |

If A is a subset of B, then it is represented as
ACB/AEB.

f® A, BI TpEE =W, OB T
Ac B/Ae B3 52O SURH 9 = |

The figure of a syllogism is determined by
the position of the middle term/minor
term/major term.

TR - IEE @M/ TSI S{EH
SR AR = |
In Boolean system, FELAPTON is a

valid/invalid mood.

@R “FafeNce FELAPTON €6 (34/%4y
TS |

[RUSISE RO R
Define argument.

e i faan
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(4)

(b) What do you mean by simplification of

proposition?
o9 SRAFIT Iferea B @02
(c) What is immediate inference?
S A S 2
(d) Give example : Venn diagram.
o3t frw < o B 1
(e) Define set.
AR gt fiar
3. Answer any four of the following : 5x4=20
wore fra1 R e wifkom Tew for

(a) Write a short note on argument form.

Ifeq SR ey «ft 53 G ferat |

(b) Distinguish between deductive inference
and inductive inference.

o SR W S SR TS @
N Mg 411
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(S)

(c) What are the rules of categorical syllogism?
Explain.

feers R fwewz & &, 30 =1

(d) What is Venn diagram? How traditional A,
E, I and O propositions are represented with
the help of Venn diagram?
sAfdg &2 s@=RIS A, E, 1 9% O
[PHER (SADIT TS (@A SR 40
=, AR A

(e) Who was the pioneer of the concept of set?
Distinguish between subset and superset.

Sl YRAGA AGFOR A ? TopiRRfS oI
SR wEe A1y @ 40 |

() What do you mean by set membership?
Explain with examples.

S orel e & @2 TRE oS
[ PAA

4. Why are arguments said to be different from
argument forms? Explain with examples. 10

WWmeﬁwﬁmw?
TARReR OIS 0T 40
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Or / 921

Explain the relation between truth and validity. 10
FORO] I (IHON ATS AT ST9[FCO! A0 F#47 |

Explain with examples the fallacies associated
with the rules of syllogism. 10

TR RS A OIS W6© (RPTYE. AT 3947 |
. Or / 11

Translate the following sentences into logical
proposition : 2Yax4=10
TS A qEPTIR SHRGEPTIS I6ete AT 1

(A/E/1/O)
(a) Every mother is loving.

ATITFAIP! AP TR |

(b) Any man cannot be poet.

R e TR FR 23 @Rl

(c) Most of the members are present in the
meeting.

AP 72 o THfFe Wz |

(d) Virtuous alone are happy.

- @7 AR 3

( Continued )

08

6. Explain with example the Venn diagrammatic

technique to test the validity of syllogism. 10
(SABAN EST RS (I VA TS (T
o1 I AN, SHIRIE (e 1 490
Or / 5241
Prove the validity of the following syllogistic
arguments with the help of Venn diagrams : 10
wore frl i YETPRA (34 (SHfba RS 2
40 :
(a) Some philosophers are mathematicians.
All scientists are mathematicians.
.. Some scientists are philosophers.
oz e = S |
et [Rel 2 S |
- e Remt =7 o |
(b) All humans are mammals.
No humans are cats.
.. No cats are mammals.
S TR = AR &1 |
I o2 7= I |
0 GG (R 7= Tl &l o
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(8)

7. Explain different operations on set with suitable

examples. 10
T TN GTe ARy e afdmmrz rm
91U

Or / 551
Symbolize the following statements by means of
set notation : 2x5=10
oS il SREER S TgT TES ASNE oS
AP 0 :

(a) All philosophers are logicians.
e TrAe - g |

(b) Some mathematicians are not logicians.
g v = ol |

(c) No horses are cows.
RICAT IR 7= 51 |

(d) All Americans are clean and strong,
FRCE! RPN 2 (%R = e |

(e) Some Indians drink both coffee and tea.

ez SRENE 3 w1 b= e 4 |

* Ak
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